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Name: ______________________________  Date: _____________________ 

Notes: Oxidation and Reduction 

What happens to the electrons of metals? ___________________________________________ 

What type of charge do metal ions have? ____________________________________________ 

Define oxidation: _______________________________________________________________ 

______________________________________________________________________________ 

What happens to the electrons of nonmetals? _______________________________________ 

What type of charge do nonmetal ions have? _________________________________________ 

Define reduction: _______________________________________________________________ 

______________________________________________________________________________ 

What is true of oxidation and reduction? ____________________________________________ 

What makes a reaction qualify as an oxidation-reduction reaction? 

______________________________________________________________________________ 

What other name are oxidation-reduction reactions known by? __________________________ 

What are the characteristics of a reduction half-reaction? ______________________________ 

______________________________________________________________________________ 

What are the characteristics of an oxidation half-reaction? _____________________________ 

______________________________________________________________________________ 

For each of the half-reactions shown below, determine if they represent oxidation or reduction. 

I2  +  2e-    2I- ___________________  Nao    Na+ + e- ___________________ 

Ca    Ca+2 + 2e- ___________________ O2  +  4e-    2O-2 __________________ 

Fe+2    Fe+3 + e- ___________________ P-3  +  2e-    P-5 ___________________ 

So  +  2e-    S-2 ___________________ Be+1    Be+2 + e- ___________________ 

K    K+  +  e- ___________________  Ag+1  +  e-  Ago  ___________________ 

Cl2  +  2e-    2Cl- ___________________ Pb+2  Pb+4 + 2e- ___________________ 

Cu+2 + 2e-  Cuo   ___________________ Bao  Ba+2 + 2e- ___________________ 
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Type of reaction: __________________________________________ 

Description of Reaction: _________________________________________________________ 

______________________________________________________________________________ 

Type of reaction: __________________________________________ 

Description of Reaction: _________________________________________________________ 

______________________________________________________________________________ 

For each of the reactions on your notes, determine if the reaction is a synthesis or a 
decomposition reaction.  

N2 + 3H2  2NH3 _____________________ 2H2O  2H2 + O2 ____________________ 

4Fe + 3O2  2Fe2O3 ___________________ 2PbO2  2PbO + O2 __________________ 

NaHCO3  NaOH + CO2 _________________ 8Fe + S8  8FeS ______________________ 

2KClO3  2KCl + 3O2 ___________________ F2 + H2  2HF _____________________  

Type of reaction: __________________________________________ 

Description of Reaction: _________________________________________________________ 

______________________________________________________________________________ 

Example: ______________________________________________________________________ 

What does the activity series show? ________________________________________________ 

Where are the most reactive metals found? __________________________________________ 

Type of reaction: __________________________________________________ 

Description of Reaction: _________________________________________________________ 

______________________________________________________________________________ 

When would this type of reaction not happen? _________________________________________ 

______________________________________________________________________________ 

Decide if each reaction will happen (YES) or will not happen (NO) based on the activity series. 

Ba  +  MnCl2    Mn  +  BaCl2  _________ Fe  +  ZnCl2    Zn  +  FeCl2  _________ 

Ni  +  PbBr2    Pb  +  NiBr2  _________  2Ag  +  2HCl    H2  +  2AgCl  _________ 

Cr  +  CaBr2    Ca  +  CrBr2  _________  3Li  +  AlBr3    Al  +  3LiBr  _________ 

2Na  +  FeSO4    Fe  +  Na2SO4  _________ Ca  +  2HBr    H2  +  CaBr2  _________ 


